

## Oscillation Criteria of Even-Order Nonlinear Difference Equations with a Sub-linear Neutral Term via Comparison Method

S. Mehar Banu<sup>1</sup> and M. Nazreen Banu<sup>2</sup>

<sup>1</sup>Department of Mathematics, Government Arts College(Autonomous),  
Salem-636007, Tamilnadu, India. E-mail: meharizh@gmail.com

<sup>2</sup>Department of Mathematics, Muthayammal Engineering College(Autonomous),  
Rasipuram, Tamilnadu, India. E-mail: nazz\_reen@yahoo.com

### Abstract

In this paper, the authors present some new oscillation criteria for the nonlinear difference equation

$$\Delta^m (x_n + p_n x_{n-k}^\alpha) + q_n x_{n-\ell}^\beta = 0$$

by using comparison method. Examples are provided to illustrate the significance of the main results.

**2010 Mathematics Subject Classification :** 39A10

**Keywords and Phrases:** Oscillatory behavior, neutral difference equation, even-order.

## 1 Introduction

In this paper, we study the oscillatory behavior of even order nonlinear neutral difference equation

$$\Delta^m (x_n + p_n x_{n-k}^\alpha) + q_n x_{n-\ell}^\beta = 0, \quad n \in \mathbb{N}(n_0) \quad (1.1)$$

where  $\mathbb{N}(n_0) = \{n_0, n_0 + 1, \dots\}$ ,  $n_0$  is a positive integer, subject to the following hypothesis:

(H<sub>1</sub>)  $m \geq 2$  is an even integer, and  $\alpha$  and  $\beta$  are ratio of odd integers with  $0 < \alpha \leq 1$  and  $\beta \in (0, \infty)$ ;

(H<sub>2</sub>)  $\{p_n\}$  and  $\{q_n\}$  are positive real sequences for all  $n \in \mathbb{N}(n_0)$  with  $\lim_{n \rightarrow \infty} p_n = 0$ ;

(H<sub>3</sub>)  $\ell$  and  $k$  are positive integers.

By the solution of equation (1.1), we mean a real valued sequence that satisfies equation (1.1) for all  $n \in \mathbb{N}(n_0)$ . We consider only those solutions  $\{x_n\}$  of equation (1.1) that satisfy  $\sup\{|x_n| : n \geq N\} > 0$  for all  $N \in \mathbb{N}(n_0)$  and tacitly assume that equation (1.1) has such solutions. Such a solution of equation (1.1) is said to be oscillatory if it is neither eventually positive nor eventually negative; else it is nonoscillatory. If all solutions are oscillatory then equation (1.1) itself called oscillatory.

The neutral type difference equations naturally arises in the applications including problems in population dynamics, in cobweb models in economics or in the design of high speed computer lossless transmission lines and so on. Therefore the problem of investigating the oscillatory behavior of solutions of neutral type difference equations has been studied by many authors; see for examples [1, 2, 4, 5, 8, 10–13, 18] and the references cited therein. In many results the neutral term is linear and few results are available when the neutral term is nonlinear; see [3, 6, 7, 9, 14–17].

In this paper, we shall present some new criteria for the oscillation of all solutions via a comparison with higher order linear delay difference inequalities as well as with first order delay difference equations whose oscillatory characters are known. Examples are provided to illustrate the importance of the main results.

## 2 Main Results

We begin with the following lemmas that are important in the proofs of our main results.

**Lemma 2.1.** (*Discrete Kneser's Theorem*) *Let  $\{u_n\}$  be a positive real sequence with  $\Delta^m u_n$  being of constant sign eventually and not identically zero eventually. Then there exists an integer  $j$ ,  $0 \leq j \leq m$ , with  $(m+j)$  odd for  $\Delta^m u_n \leq 0$  and  $(m+j)$  even for  $\Delta^m u_n \geq 0$  and  $N \in \mathbb{N}(n_0)$  such that*

$$\Delta^i u_n > 0 \quad \text{for all } i = 1, 2, \dots, j$$

and

$$(-1)^{i+j} \Delta^i u_n > 0 \quad \text{for all } i = j+1, j+2, \dots, m-1$$

for all  $n \geq N$ .

**Lemma 2.2.** *Let  $\{u_n\}$  be a positive real sequence with  $\Delta^m u_n \leq 0$  for all  $n \in \mathbb{N}(n_0)$  and not identically zero. Then there is an integer  $n_1 \in \mathbb{N}(n_0)$  such that*

$$u_n \geq \frac{(n - n_1)^{m-1}}{(m-1)!} \Delta^{m-1} u_{2^{m-j-1}n}, \quad n \geq n_1$$

where  $j$  is defined in Lemma 2.1. Further, if  $\{u_n\}$  is increasing, then

$$u_n \geq \frac{1}{(m-1)!} \left( \frac{n}{2^{m-1}} \right)^{m-1} \Delta^{m-1} u_n, \quad n \geq 2^{m-1}n_1.$$

The proof of the last two lemmas can be found in [1].

Before starting the next lemma, we define

$$z_n = x_n + p_n x_{n-k}^\alpha.$$

**Lemma 2.3.** Let  $\{x_n\}$  be a positive solution of equation (1.1). Then there is an integer  $n_1 \in \mathbb{N}(n_0)$  such that

$$z_n > 0, \Delta z_n > 0, \Delta^{m-1} z_n > 0 \text{ and } \Delta^m z_n \leq 0$$

for all  $n \geq n_1$ .

**Proof.** The proof is similar to that of Lemma 3 of [12], and hence it is omitted.  $\square$

**Theorem 2.4.** Let  $\beta > 1$ . If the even-order linear delay difference inequality

$$\Delta^m z_n + M q_n z_{n-\ell} \leq 0 \quad (2.1)$$

has no positive solution for every constant  $M > 0$ , then equation (1.1) is oscillatory.

**Proof.** Let  $\{x_n\}$  be a nonoscillatory solution of equation (1.1), say  $x_n > 0$ ,  $x_{n-k} > 0$  and  $x_{n-\ell} > 0$  for all  $n \geq n_1 \in \mathbb{N}(n_0)$  since the proof for the negative case is similar. From equation (1.1) and  $(H_3)$ , we have

$$\Delta^m z_n = -q_n x_{n-\ell}^\beta < 0, \quad n \geq n_1. \quad (2.2)$$

Then, it follows from Lemma 2.1, there is an integer  $n_2 \geq n_1$  such that

$$\Delta z_n > 0 \text{ and } \Delta^{m-1} z_n > 0 \quad (2.3)$$

for all  $n \geq n_2$ . From the definition of  $z_n$ , we obtain

$$x_n = z_n - p_n x_{n-\ell}^\alpha \geq z_n - p_n z_n^\alpha \quad (2.4)$$

where we have used  $z_n \geq x_n$  and  $\{z_n\}$  is increasing. Since  $z_n$  is positive and increasing, there is an integer  $n_2 \geq n_1$  and a constant  $c > 0$  such that

$$z_n \geq c \text{ for all } n \geq n_2. \quad (2.5)$$

Using (2.5) in (2.4) and since  $0 < \alpha \leq 1$ , we obtain

$$x_n \geq (1 - p_n c^{\alpha-1}) z_n, \quad n \geq n_2. \quad (2.6)$$

From (2.6) and the fact that  $\lim_{n \rightarrow \infty} p_n = 0$ , for any  $\delta \in (0, 1)$ , there is an integer  $n_3 \geq n_2$  such that

$$x_n \geq \delta z_n \text{ for } n \geq n_3. \quad (2.7)$$

Fix  $\delta \in (0, 1)$ . Since  $n - \ell \rightarrow \infty$  as  $n \rightarrow \infty$ , one can choose an integer  $n_4 \geq n_3$  such that  $n - \ell \geq n_3$  for all  $n \geq n_4$ . Thus from (2.7) we have

$$x_{n-\ell} \geq \delta z_{n-\ell} \text{ for } n \geq n_4. \quad (2.8)$$

Using (2.8) in equation (1.1) yields

$$\Delta^m z_n + \delta^\beta q_n z_{n-\ell}^\beta \leq 0 \quad (2.9)$$

or

$$\Delta^m z_n + \delta^\beta q_n z_{n-\ell}^{\beta-1} z_{n-\ell} \leq 0, \quad n \geq n_4. \tag{2.10}$$

From (2.7) and  $\beta > 1$ , (2.10) yields

$$\Delta^M z_n + M q_n z_{n-\ell} \leq 0, \quad n \geq n_4, \tag{2.11}$$

where  $M = \delta^\beta c^{\beta-1}$ . That is, (2.1) has a positive solution, which is a contradiction. This completes the proof.  $\square$

**Theorem 2.5.** *Let  $\beta = 1$ . If the even order linear delay difference inequality*

$$\Delta^m z_n + \delta q_n z_{n-\ell} \leq 0 \tag{2.12}$$

*has no positive solution for any  $\delta \in (0, 1)$ , then equation (1.1) is oscillatory.*

**Proof.** The proof follows from Theorem 2.4 with  $\beta = 1$  and hence we omit the details.  $\square$

Next, we obtain an oscillation result for equation (1.1) when  $0 < \beta < 1$ .

**Theorem 2.6.** *Let  $0 < \beta < 1$ . If the even order linear delay difference inequality*

$$\Delta^m z_n + D ((n - \ell)^{m-1})^{\beta-1} q_n z_{n-\ell} \leq 0 \tag{2.13}$$

*has no positive solution for every constant  $D > 0$ , then equation (1.1) is oscillatory.*

**Proof.** Let  $\{x_n\}$  be a nonoscillatory solution of equation (1.1), say  $x_n > 0$ ,  $x_{n-k} > 0$  and  $x_{n-\ell} > 0$  for all  $n \geq n_1$  for some  $n_1 \in \mathbb{N}(n_0)$ . Arranging as in the proof of Theorem 2.4, we can arrive at (2.9) and this may be written as

$$\Delta^m z_n + \frac{\delta^\beta q_n}{z_{n-\ell}^{1-\beta}} z_{n-\ell} \leq 0, \quad n \geq n_4. \tag{2.14}$$

Since  $\Delta^{m-1} z_n$  is positive and decreasing for all  $n \geq n_3$ , there is a constant  $d > 0$  and an integer  $n_5 \geq n_4$  such that

$$\Delta^{m-1} z_n \leq d \quad \text{for all } n \geq n_5. \tag{2.15}$$

Summing (2.15) from  $n_5$  to  $n - 1$  consecutively  $m - 1$  times, we deduce that

$$z_n \leq M n^{m-1}, \quad n \geq n_4 \tag{2.16}$$

for some constant  $M > 0$ , and so

$$z_{m-\ell} \leq M(n - \ell)^{m-1}, \quad n \geq n_5 \geq n_4. \tag{2.17}$$

Using (2.17) in (2.14) yields

$$\Delta^m z_n + \delta^\beta M^{\beta-1} ((n - \ell)^{m-1})^{\beta-1} q_n z_{n-\ell} \leq 0$$

or

$$\Delta^m z_n + D ((n - \ell)^{m-1})^{\beta-1} q_n z_{n-\ell} \leq 0, \quad n \geq n_5, \tag{2.18}$$

where  $D = \delta^\beta M^{\beta-1} > 0$ . The remainder of the proof is similar to that of Theorem 2.4 and hence is omitted.  $\square$

In the following theorems we obtain oscillation of equation (1.1) via comparison with first order delay difference equations whose oscillatory characters are known.

**Theorem 2.7.** *Let  $\beta > 1$ . If the first order linear delay difference equation*

$$\Delta w_n + M \frac{q_n}{(m-1)!} \left(\frac{n-\ell}{2^{m-1}}\right)^{m-1} w_{n-\ell} = 0 \tag{2.19}$$

*is oscillatory for every constant  $M > 0$ , then equation (1.1) is oscillatory.*

**Proof.** Let  $\{x_n\}$  be a nonoscillatory solution of equation (1.1), say  $x_n > 0$ ,  $x_{n-k} > 0$  and  $x_{n-\ell} > 0$  for all  $n \geq n_1 \in \mathbb{N}(n_0)$ . Proceeding as in the proof of Theorem 2.4, one obtain (2.11) for  $n \geq n_3$ . Since  $z_n > 0$  and  $\Delta z_n > 0$  for all  $n \geq n_3$ , we have  $\lim_{n \rightarrow \infty} z_n \neq 0$ , and so by Lemma 2.2, we have

$$z_n \geq \frac{1}{(m-1)!} \left(\frac{n}{2^{m-1}}\right)^{m-1} \Delta^{m-1} z_n, \quad n \geq n_4 \geq 2^{m-1} n_1. \tag{2.20}$$

Using (2.20) in (2.11) yields

$$\Delta^m z_n + \frac{Mq_n}{(m-1)!} \left(\frac{n-\ell}{2^{m-1}}\right)^{m-1} \Delta^{m-1} z_{n-\ell} \leq 0, \quad n \geq n_5 \geq n_4. \tag{2.21}$$

With  $w_n = \Delta^{m-1} z_n$ , we see that  $\{w_n\}$  is a positive solution of the first order delay difference inequality

$$\Delta w_n + \frac{Mq_n}{(m-1)!} \left(\frac{n-\ell}{2^{m-1}}\right)^{m-1} w_{n-\ell} \leq 0, \quad n \geq n_5. \tag{2.22}$$

Summing the inequality (2.22) from  $n \geq n_5$  to  $u$  and letting  $u \rightarrow \infty$ , we obtain

$$w_n \geq \sum_{s=n}^{\infty} \frac{Mq_s}{(m-1)!} \left(\frac{s-\ell}{2^{m-1}}\right)^{m-1} w_{s-\ell}, \quad n \geq n_5.$$

The sequence  $\{w_n\}$  is clearly decreasing for all  $n \geq n_5$  and  $\lim_{n \rightarrow \infty} z_n = 0$ , which contradicts the fact that equation (2.19) is oscillatory. This completes the proof.  $\square$

**Theorem 2.8.** *Let  $\beta = 1$ . If the first order linear delay difference equation*

$$\Delta w_n + \frac{\delta}{(m-1)!} q_n \left(\frac{n-\ell}{2^{m-1}}\right)^{m-1} w_{n-\ell} = 0 \tag{2.23}$$

*is oscillatory for every  $\delta \in (0, 1)$ , then equation (1.1) is oscillatory.*

**Proof.** The proof follows from (2.9) with  $\beta = 1$ , (2.20) and Theorem 2.7, and hence we omit the details.  $\square$

**Lemma 2.9.** *Let  $\gamma \in (0, 1]$  be ratio of odd positive integer. Assume  $\{R_n\}$  is a positive real sequence for  $n \in \mathbb{N}(n_0)$ . If*

$$\lim_{n \rightarrow \infty} \sum_{s=n-\ell}^{n-1} R_s = \infty, \tag{2.24}$$

*then the first order delay difference equation*

$$\Delta y_n + R_n y_{n-\ell}^\gamma = 0 \tag{2.25}$$

*is oscillatory.*

**Proof.** Let  $\{y_n\}$  be a positive solution of equation (2.25). One can observe that (2.24) implies that  $\sum_{n=N}^{\infty} R_n = \infty$ . Since  $\{y_n\}$  is decreasing, there is a constant  $M > 0$  such that  $\lim_{n \rightarrow \infty} y_n = M \geq 0$ . If  $M > 0$ , then summing (2.25) from  $N$  to  $n$ , we obtain

$$y_N \geq M^\alpha \sum_{s=N}^n R_s \rightarrow \infty \text{ as } n \rightarrow \infty$$

which is a contradiction. Hence  $\lim_{n \rightarrow \infty} y_n = 0$  and also  $0 < y_n < 1$  and therefore  $y_{n-\ell}^\alpha \geq y_{n-\ell}$ . Using this in equation (2.25) we have

$$\Delta y_n + R_n y_{n-\ell} \leq 0, \quad n \geq N. \tag{2.26}$$

However the condition (2.24) and Theorem 7.6.1 of [8] imply that the inequality (2.26) has no positive solution, which is a contradiction. This completes the proof.  $\square$

By applying Lemma 2.9, we have the following results.

**Corollary 2.10.** *Let  $\beta \geq 1$ . If*

$$\lim_{n \rightarrow \infty} \sum_{s=n-\ell}^{n-1} q_s (s-\ell)^{m-1} = \infty \tag{2.27}$$

*then equation (1.1) is oscillatory.*

**Proof.** Applying Lemma 2.9, we see that equations (2.19) and (2.23) and so from Theorem 2.7 and 2.8, we conclude that equation (1.1) is oscillatory. This completes the proof.  $\square$

**Theorem 2.11.** *Let  $0 < \beta < 1$ . If the first order linear delay difference equation*

$$\Delta w_n + \frac{D}{(m-1)!} q_n ((n-\ell)^{m-1})^\beta w_{n-\ell} = 0 \tag{2.28}$$

*is oscillatory for every constant  $D > 0$ , then equation (1.1) is oscillatory.*

**Proof.** The proof follows from (2.18), (2.20) and Theorem 2.7 and hence the details are omitted.  $\square$

**Corollary 2.12.** *Let  $0 < \beta < 1$ . If*

$$\lim_{n \rightarrow \infty} \sum_{s=n-\ell}^{n-1} (s-\ell)^{\beta(m-1)} q_s = \infty \tag{2.29}$$

*then equation (1.1) is oscillatory.*

**Proof.** The proof is similar to that of Theorem 2.11.  $\square$

### 3 Examples

In this section, we present two examples to illustrate the importance of the main results.

**Example 3.1.** Consider the neutral difference equation

$$\Delta^m \left( x_n + \frac{1}{n} x_{n-2}^{\frac{1}{3}} \right) + \frac{1}{n^\gamma} x_{n-3}^3 = 0, \quad n \geq 1. \quad (3.1)$$

where  $m \geq 2$  is even and  $\gamma > 0$ . Here  $p_n = \frac{1}{n}$ ,  $q_n = \frac{1}{n^\gamma}$  and  $\beta = 3$ . Then

$$\sum_{s=n-3}^{n-1} (s-3)^{m-1} \frac{1}{s^\gamma} \approx \sum_{s=n-3}^{n-1} s^{m-\gamma-1} \approx 3n^{m-\gamma-1}$$

which  $\rightarrow \infty$  when  $m > \gamma + 1$ . Therefore by Corollary 2.10, every solution of equation (3.1) is oscillatory.

**Example 3.2.** Consider the neutral difference equation

$$\Delta^m \left( x_n + \frac{1}{n} x_{n-2}^{\frac{1}{3}} \right) + \frac{1}{n^\gamma} x_{n-3}^{\frac{1}{3}} = 0, \quad n \geq 1. \quad (3.2)$$

where  $m \geq 2$  is even and  $\gamma > 0$ . Here  $p_n = \frac{1}{n}$ ,  $q_n = \frac{1}{n^\gamma}$  and  $\beta = \frac{1}{3}$ . Then

$$\lim_{n \rightarrow \infty} \sum_{s=n-3}^{n-1} (s-3)^{\frac{1}{3}(m-1)} \approx 3n^{\frac{m-1}{3}-\gamma} \rightarrow \infty \quad \text{as } n \rightarrow \infty$$

when  $m > 3\gamma + 1$ . Therefore by Corollary 2.12, every solution of equation (3.1) is oscillatory.

We conclude this paper with the following observations. There are many oscillation results available for first and higher order delay difference equations, and so it would be possible to formulate many criteria for the oscillation of equation (1.1) based on the results in this paper. Further the results presented in this paper are different from that of in [3], and hence our results are different and complement to the existing one.

### References

- [1] R.P. Agarwal, Difference Equations and Inequalities, *Marcel Dekker, New York*, 2000.
- [2] R.P. Agarwal, M. Bohner, S.R. Grace and D.O'Regan, Discrete Oscillation Theory, *Hindawi Publ. Corp., New York*, 2005.

- [3] G.Ayyappan and G.Nithyakala, Some oscillation results for even order delay difference equations with a sublinear neutral term, *Abstract and Applied Analysis*, Volume 2018, Article ID 2590158, 6 Pages, 2018.
- [4] Y.Bolat, O.Akin and H.Yildirim, Oscillation criteria for a certain even order neutral difference equations with oscillating coefficient, *Appl. Math. Lett.*, 22(2009), 590-594.
- [5] Y.Bolat and J.Alzabut, On the oscillation of even order half linear functional difference equations with damping term, *Inter. J. Differential Equations*, Vol. 2014, Article ID 791631, 6 Pages, 2014.
- [6] C.Dharuman, J.R.Graef, E.Thandapani and K.S.Vidhya, Oscillation of second order difference equations with sublinear neutral term, *J. Math. Appl.*, 40(2017), 59-67.
- [7] C.Dharuman and E.Thandapani, Oscillation of solutions of nonlinear difference equations with a super linear neutral term, *Nonautonomous Dynamical Systems*, 5(2018), 52-58.
- [8] I.Gyori and G.Ladas, *Oscillation Theory of Delay Differential Equations with Applications*, Clarendon Press, Oxford, 1991.
- [9] B.Kamaraj and R.Vasuki, Oscillation of second order difference equations with a superlinear neutral term, *J. Advances in Math. Comput. Sci.*, 23(2017), 1-10.
- [10] H.A.El-Morshedy and S.R.Grace, Oscillation of some nonlinear difference equations, *J. Math. Anal. Appl.*, 281(2003), 10-21.
- [11] N.Parhi and A.K.Tripathy, Oscillation of a class of nonlinear neutral difference equations of higher order, *J. Math. Anal. Appl.*, 284(2003), 756-774.
- [12] D.Seghar, S.Selvarangam and E.Thandapani, Oscillation criteria for even order nonlinear neutral difference equations, *Diff. Equ. Appl.*, 6(2014), 441-453.
- [13] S.Selvarangam, S.A.Rupadevi, E.Thandapani and S.Pinelas, Oscillation criteria for even order neutral difference equations, *Opuscula Mathematica*, 39(2019), 91-108.
- [14] E.Thandapani, S.Pandian and R.K.Balasubramaniam, Oscillation of solutions of nonlinear neutral difference equations with nonlinear neutral term, *Far East J. Appl. Math.*, 15(2004), 47-62.
- [15] M.K.Yildiz and H.Ogunmez, Oscillation results of higher order nonlinear neutral delay difference equations with a nonlinear neutral term, *Hacettepe J. Math. Stat.*, 43(2014), 809-814.
- [16] M.K.Yildiz and O.Ocalan, Oscillation results for higher order nonlinear neutral delay difference equations, *Appl. Math. Lett.*, 20(2007), 243-247.



- [17] Z.Zhang, J.Chen and C.Zhang, Oscillation of solutions for second order nonlinear difference equations with nonlinear neutral term, *Comput. Math. Applic.*, 41(2001), 1487-1494.
- [18] Z.Zhou, J.Yu and G.Lei, Oscillations for even order neutral difference equations, *The Korean J. Comput. Appl. Math.*, 7(2000), 601-610.